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1 9:30~9:45 EE VS H&EE) FHE VS EEL FHBR(®R) VS FRIE(H) BE VS EHiE ERR(E) VS Bt MLUCGH) VS FH-E(E)
L E 3] HR(H) KHR(HK) KHE(H) Lil=] REE(E) Kil
] By L 37 43 50 56 6 12
2 9:50~10:05 = VS dbA(R) MwUE) VS B RIE(GHR) VS FEW WE(HF) VS #EE BEGR) VS EWE(E) ABE VS AHR(HE)
=3 1] FRk-m(HR) FERIR( 3R ) FREf(R) R®E FHE
] By L 17 23 30 36 a2 48
3 10:10~10:25 KE(H) VS AHIHEHE) %k Vs @B BR(E) VS BBEE) BABE VS AE AMB\HK) VS EE AME(E) VS Fak-#(H)
L =3 bl ] SHEe FERR(E) #lCHR) Rn #WL(E)
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4 | 10:30~10:45 FL VS EA #WEB VS RIE(R) EE VS BEGHR FHE VS FHBE ABEE) VS Al BH VS S
=3 KRIE(HK) FR(HK) 5 (H) EEL RIE(H) X3
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5 10:50~11:05 BRR(E) VS BEHE) WIL(H) VS B m VS KHIBE(H) MLUCE) VS AHR(E) KIE(H) VS BERRGHK) #BR(E) VS BBEGHE)
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L =1 =X FHE BEE(R) RH ZHH) RHPE
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7 11:30~11:45 HEGHR) VS  =E HE VS XHIR(E) B\RR(GE) VS B@M ABE(R) VS RIE(R) EE VS ®WEGE FHE VS XHEGHK)
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10|| 12:30~12:45 Bt VS EEE Fak-m(H) VS EHhE EAEGH) VS AHBEHK) HE VS FE-E(HE) BRR(GE) VS R FHBM(HR) VS #ESR
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12| 13:30~13:45 A1fii VS  Bifif ML Vs Jifi
L =3 FiR)-5280KE FiR)-J340ME
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13| 14:00~14:15 10ME VS Ciff Difii VS E1fi Fiff VS Gifi HifE VS 20mE
=3 10M& 20ME FiR)-J400KE FR)-J4TOME
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